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QUESTION 1

An integration developer is writing a new mediation flow and making use of the custom mediation primitive. 

Within the Java snippet code the integration developer uses the List Java interface. 

On building the project, it fails and an entry in the Problems Tab shows: "List cannot be resolved to a type" 

How can this issue be resolved? 

A. Select the module and File->lmport->JAR file and import the utils jar file. 

B. In the Java imports tab of the Custom Mediation primitive, insert "import Java.util.List". 

C. In the User properties tab of the Custom Mediation primitive, click add and then select Java.util.List. 

D. In the Details tab of the Custom Mediation primitive, add "import java.util.List" at the top of the Java code. 

Correct Answer: C 

 

QUESTION 2

A client wants to invoke a mediation module that contains a mediation flow. Which of the following export bindings with
Request-Response interface will ensure that the mediation flow is invoked asynchronously with callback by the client? 

A. HTTP 

B. Web services (SOAP/JMS) 

C. Web services (SOAP/HTTP) 

D. WebSphere MQ or WebSphere MQ-JMS 

Correct Answer: D 

 

QUESTION 3

An integration developer successfully deployed an application containing an SCA module. The application fails to start
as the server attempts to initiate application resources. 

Which of the following may be the cause of the failure? 

A. Bindings were specified incorrectly. 

B. The log settings for the application were specified incorrectly. 

C. Another application with the same name was deployed to the cell. 

D. Web resources were not included in the resource archive (RAR) file. 

Correct Answer: D 
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QUESTION 4

An integration developer wants to log the entire service message object flowing through a mediation flow into a
database. The developer wants to design the flow in such a way that a failure in the flow causes the complete flow to roll
back, including the log operation. Assuming the mediation component runs as a part of a global transaction, to what
value should the \\'Transaction mode\\' property of the Message Logger primitive be set, to achieve the desired
behavior? 

A. new 

B. same 

C. local 

D. global 

Correct Answer: B 

 

QUESTION 5

An integration development team is preparing a mediation flow for a test team. The flow contains several primitives
(Event Emitter, Message Logger, and Trace) that will only be used for trace and logging purposes. It is known that the
inclusion of these additional Tracing primitives will have an adverse effect on performance, so the test team wants the
ability to test the meditation flow with and without trace being generated, and with the minimal amount of changes
needed to the test setup. How should the integration development team BEST implement the test team\\'s
requirements? 

A. Promote the Enabled property of each primitive. 

B. Rebuild the mediation flow without the logging and tracing primitives. 

C. Set the Enabled property of each primitive to unchecked and redeploy. 

D. Set the Transaction property of each primitive to run in their own transaction. 

Correct Answer: A 
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